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1. Solve the inequality 12 - 4x < — 4. Graph the solution set.

In set notation, the solution is {xl R } (Type an inequality.)

Graph the solution set. Choose the correct graph below.

O A, < v ) g, C———

9 6 3 0 3 6 9 9 6 -3 0 3 6 9
() €. <ttt ——— () Attt -, i

9 6 3 0 3 6 9 24 21 18 5 12 9 6
Answers x> 4

b - g

cC. 9 6 3 0 3 6 9
ID: 1.1.4

Lof3dp———n  _ —

9/10/2019, 10:03 AM

Ry e

<

\\\ \\

N

| e



finalm1314COCO033sulllljjRZZ07-Alfredo Alvarez https://xlitemprod. pearsoncmg.com/api/vl/print/__math

2. Find the following for the function f(x) = 2 +3x- 3.

(a) (0) (b) 1(5) (c) f(-5) (d) f(-x)
(e) - f(x) f fix+2) (9) f(4x) (h) f(x +h)

@fo=) | (Simpiify your answer.)
b fs)=[ (Simplify your answer.)
) f(-5=] | (Simplify your answer)
@f-x=] | (simplify your answer)
e -f)=| | (Simplify your answer,)
Mfx+2)= | (simplify your answer)
@f@x)=] | (sSimplify your answer)
(hfx+h)=[ | (Simplify your answer,)

Answers -3
112
82

4x?-3x-3

-4x% -3x+3
452 +19x+19
64x% +12x- 3

4x% + 8hx +4h? +3x+3h -3

ID: 1.1.43
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3. Find the domain of the function.
f(x) = 1/4x -8
The domain is I . (Type your answer in interval notation.)

Answer: [2,00)
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4. For the given functions f and g, complete parts (a)-(h). For parts (a)-(d), also find the domain. , -

10 = 5%+ 4; g0 = 3x -2 ol o Cs ); ) g
¢ A —1) 2 " |
(a) Find (f+ g)(x). ('( )t (- S A i Jhg o
y(-f“f-f'%(»’i S S - .
f+g)(x) = (Simplify your answer.) . '—'/>/7 f//
— TX+2 /
What is the domain of f + g? Select the correct choice below and if necessary, fill in the answer box to cornplete your
choice. » _
| #54 — 5(4] -
() A The domain is {x| }. (Exrer) —(3x-1 )<

(Use integers or fractions for any numbers in the expression. Use a comma to separate /
answers as needed.) . ’ . 3
Xt =2 FE ="

(b) Find (f - g)(x). ‘--—-.___Z X t6 . ( J e
f-g)(x)= (Simplify your answer.) (—— M /)//

What is the domain of f— g? Select the correct choice below and, if necessary, fill in the answer box ib complete your

choice. (;{/0 )//)//

) A. The domain is {xl } ’T”‘/ e )~

(Use integers or fractions for any numbers in the EXpress:cn Use a comma to separate

answers as needed.) (5 )// ('(. )/; ( -7 )

() B. The domain is {xl X is any real number}. .
/sx L f/wx /LA /i/’/JmW\
(c) Find (f » g)(x). E

(f-9)x)= ' (Simplify youranswer)& / $ )( T Z )( =il 7 (("»V/ . 7 )

(2 B. The domain is {x| x is any real number}.

What is the domain of f+g? Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

) A- The domain is {x| }. (/7 )\// : LA 3x~7

(Use integers or fractions for any numbers in the expression. Use a comma to separate

|
N
)

f (\".-. ¥ 7 f(f ==
What is the domain of 5‘? Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
v-/; )/"(7 = / /\/"‘{ 2
A. The domain is {x } ( (‘// {( C"/)'/ £

(Use integers or fractions for any ‘numbers in the prressmn Use a comma to separate

answers as needed.) ﬂ [’f 7) ( (f) -3 A,fi

() B. The domain is {x| x is any real number}.
T—

(e) Find (f + g)(4). ( ( //77) ( )~ 3 \‘\

J
>

answers as needed.) ///)/ 7 | 3 = Z — / = JT .
i) B. The domain is {x[ X is any real number}. e _
bl # A= T
(d) Find (i} (). o s 2L o &
f == d’—-’__r 3 __/""I.I
(—] x)=| (Simplify your answer.}< 3x % — X g,;
g — e/ --.x?}
X ‘
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(F+g)@) = (Type an integer or a simplified fraction.) (/ -3 ) exr 4
(f) Find (F- g)(2). (/'r)}/Z) 2 2(2) 76
(F-g)(2) = (Type an integer or a simplified fraction.) ( L)1) ~ f%_.é\/
(9) Find (f+)(3). C (/ c))(é) =22

(f@)3)=__ (Typean integer or a simplified fraction.) // j/)/)/) /S"/ —f (/( Z/
(h) Find [ ](1) / /j/}) /) /3} g /5/ B /
[é] M= (Type an integer or a simplified ﬂé;mn,{jfgj /‘7(/5)1/ §/- ’fg/g} d
N (/w))/’s/’/i’((ij +_é/’3/~o7
B. The domain is{xlxis any real number}. % j’)( ;) / 'ﬁ 3 7‘_ 6~ &/

2x+6 (/— /)//}/ /‘7//"')7

B. The domain is {x| x is any real number}.- K// /) [KS / 3 3 § L/

15x +2x-8
B. The domain is {xl x is any real number}. 5 ,
5x+4 ( 7 ) /5/ ) —
3x-2
— s _(J_’C x4
A. The domain is §x| x#— ! 3 ,.f- ) "., 7)) - 2

(Use integers or fractlons for any numbers in the e ressuon Use a comma to separate answers as needed.)

: / )m - L

133 ’/

ID: 1.1.67 ‘ = I
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5. For the given functions f and g, complete parts (a)-(h). For parts (a)-(d), also find the domain.

/-' < 2
o ] =
f(x) = x = 7; g(x) = 2%° 14 J(x] )
— Z o
(a) Find (f+ g)(x). ()’? /) 7;( i - / &ju iy |
— j T (X ' ) 1/
f = Simpl r=, o A
(f+g)(x) (Simplify your answer.) 2 / - )(/ e (\[ b P e ,Z
What is the domain of f + g? Select the correct choice below rifneeessaryfillin the answer box to complete: your

choice. f.
X [ = 90~ )
- P " L
( A. The domain is {x| b (=71 ) = ( 22 J
(Use integers or fractions for any numbers in the expression. Use a comma to separate

answers as needed.) /(.,.A 7 . 2/)( ! - (( -\P/\a g

(0 B. The domain is {x| x is any real number}. ’;_—-___l )( 7 —i” /
— ‘f‘ w—" . - = 7 { f
(b) Find (F- g)(x). <; 54 3 ( e //
——— = L )
f-g)0)= (Simplify your answer.) Ve

What is the domain of f — g7 Select the correct choice below and _if necessary, fill in the answer box to complete your
choice. ( ) )/ )
) f - _://r’

- v
) A The domain is {x| } #7 Jf e D] = : { /}76' :
(Use integers or fractions for any numbers in the e)fpressmn Use a comma to separate \) Y

answers as needed.) (/\’/”ﬂ }) /(,/{, \_ J// ___"’,--}ﬁg /W)/,

A\
\
\
\

() B. The domain is {x| x is any real number}.
(o) Find (f+ g)(x). ( Z)( — /¥ X "

feg)(¥)= (Simplify your answer.)

What is the domain of f+ g? Select the correct choice below and If necessary, fill in the answer box to complete your choice,

(7 A The domain is {x } Z ] ﬂ : */I‘/l/t )(

(Use integers or fractions for any numbers in the expre |on Use a comma to separate
answers as needed.) / (f f
71 ) 4

L

'f’f/J =0

;;ILI T JJ MO TN

)( :/:(t (J __J/":]

() B. The domain is {x| x is any real number}.

(d) Find [é] (x).

f
[EJ (x)= (Simplify your answer.

What is the domain of — i —7? Select the correct choice below and, if necessary, fill in the-_answer box to complete your ch0|ce
| . i (Fe o) 2x " Tu=7
) A. The domain is {x .

(Use integers or fractions kar‘ah’y numbers in the expression. Use a comma to separ%te _

answers as needed.) (?_/7/(2) - 2(2) -T('g)/7
i} B. The domain is {x| X is any real number}, ([—{ 7/ (2) Z(?/ (L) TQJ 7
(e) Find (F+ g)(2). 5) (2/ v [cp/ +( —7

[«r (1)~ 7;1‘2 f:_{
( ([”')) (’2) - 5 9/10/2019, 10:03 AM
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(f+g)2)= (Type an integer or a simplified fraction.) {%,9 V) s —2x :L"(“ X~/
(9 Find (- 9)(3). ﬂz’/ (3) =~/ 2)¢+13)- 7
Z=9)(4)= (N3} + 3/~ 7
() Find (F+ g)(4). .-—fj/(’}) T~ /ﬁ) /3)— 7
(f+g)(@4) = ' (Type an integer or a simplified fraction.) // g )( 1) =y 3 ~7

(h) Find (é}(s). (// (3)< —/5— P

(f-9)@3)= (Type an integer or a simplified fraction.)

Cﬁ)/m = f“/
f =
(E] (3) =| (Type an integer or a simplified fraction. )(//)p(/ Z)( ’/ YX

B. The domain is {x| X is any real number}. / : // / L/} / /(/) -/7/2/_/

et Fes)re) = 2D~/ ¥(HE
B. The domain is {x| x is any real number}. / ?//(f) Z (c,/ V/ ""/ Sz//&/

Answers 2x2 +x-7

2 - 143 - _/(( /Z/J r—le/
I)B(._T:e domain is {x| x is any real numb@ = o= / (_’//) L//
2x2 ( )/)( _)_(:_Z

A.Thedomainis {x|  x#0  }. Z// &

(Use integers or fractions for any numbers in the expressmn Use a comma to separate answers as needed.)

3 % Z)e) - (3}/ = / L~ (( 5,' pil

-22 (

-96 3 _

. /jg) bl LN T Qgcl '
ID: 1.1.69 Q /j ){%) ;Z /

6. fix + h) f(x)
Find the difference quotient of f; that is, find

, h#0, for the foIIowmg function. Be sure to simplify.

: ~ ¥
fx)=x2 —7x+9 (g/l / ( ff!) 14 ( ,\/ (»f—{)
f(X+h) f(x) I_ﬂ}&_{[\ __.7( 7})7‘(‘ ___)( _{’7)( -

Answer: 2x+h -7 J{ -,é /(_[\.:/ )(L, -f-/&z *7'1/""7/" ’ch == lhf ?l’/— 9 ey

- L| / //
i el fi‘f;. 2xhst b —IK 7 FA 275
2xh+h =74 _ ~ b u"' 14:\/ 2x+h—7
6 of 34 A i e o _9/10/2019;10:03 AM
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7. Determine whether the graph on the right is that of a function by using the vertical-line

test. If it is, use the graph to find the following.

(a) the domain and range
(b) the intercepts, if any
(c) any symmetry with respect to the x-axis, y-axis, or the origin

Does the graph represent a function? Choose the correct answer below.

() A. Yes, the graph is a function because every vertical line intersects the graph in more than one
point.

(1 B. No, the graph is not a function because a vertical line x = 2 intersects the graph at two points.

() €. No, the graph is not a function because a vertical line x = 2 intersects the graph at only one
point.

< . : = ;
LY D. Yes, the graph is a function because every vertical line intersects the graph in at most one

point.

(a) What are the domain and ranf of the function? Select the correct choice below and, if necessary, fill in the answer

box(es) to complete your choice [ ¢ J YA £) / ( /9 h(/ fC ﬂ)
2 22U ’M/
GA. The@omam is ( /) 3 ) hérange is ("' 00 3 )

(Type your answers in interval notation. Use integers or fractlons for any numbers in the
expressions.)

() B. The graph is not that of a function.

(b) What is/are the lntercept(s)’> Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.

A (The intercept(s) is/are (// O) )( !

(Typean ordered pair. Use a comma to separate answers as needed.)
B. There are no intercepts.

C. The graph is not that of a function.
(c) Determine if the graph is symmetric with respect to the x-axis, y-axis, or the origin. Select all that apply.
[[] A. The graph is symmetric with respect to the origin.

(] B. The graph is symmetric with respect to the y-axis.

C. The graph is symmetric with respect to the x-axis.

FT{). The graph has no symmetry.

[] E. The graph is not that of a function.

9/10/2019, 10:03 AM
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Answers D. Yes, the graph is a function because every vertical line intersects the graph in at most one point.

A. The domain is | (0,3) . Therange is (= 00,5)

(Type your answers in interval notation. Use integers or fractions for any numbers in the expressions.)
A. The intercept(s) is/are (1,0) .(Type an ordered pair. Use a comma to separate answers as needed.)

D. The graph has no symmetry.

ID: 1.2.18

8 of 34 9/10/2019, 10:03 AM
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8.
Determine whether the graph is that of a function by using

the vertical-line test. If it is, use the graph to find
(a) its domain and range.
(b) the intercepts, if any.

(c) any symmetry with respect to the x-axis, y-axis, or the
origin.

Is the graph that of a functlon’7

o o

('_ Yes _
) No

If the graph is that of a function, what are the domain and range of the function? Select the correct choice below and fill in

any answer boxes within your c:hm«:el/j,/p vijit ) T /{;J

T A Th?{domain: C .Th%nge,fis (“' 50_/ ﬂ /

(Type your answers in tnte | notation;)

() B. The graph is not a function.

What are ﬂklntercepts'f" Select the corrgct choice be!ow @d fill in any answer boxes within your choice.
i A r

el (, l
vt Lo e
. |\ Hr e
sk (6, 0) (5 G, (j‘ ( 0,4 ) 7 5
(Type an ordered pair. Use a comma to separate answers as needed.)
(O B. There are no intercepts.

(71 €. The graph is not a function.

Determine if the graph is symmetrical.

() A. ltis symmetrical with respect to the origin.

) B. ltis symmetrical with respect to the x-axis: :

e

\ (& C. ltis symmetrical W|th respect to the y- aXIS N

O D. The graph is not symmetrlcal.
() E. The graph is not a function.

Answers Yes

A. The domain is (=o0,00) . Therangeis (= 00,4] .(Type your answers in interval notation.)

A. |(6,0),( - 6,0),(0,4)(Type an ordered pair. Use a comma to separate answers as needed.)

C. It is symmetrical with respect to the y-axis.

ID: 1.2.21
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Using the given graph of the function f, find the following.

(a) the intercepts, if any

(b) its domain and range

(c) the intervals on which it is increasing, decreasing, or constant
(d) whether itis even, odd, or neither

lm'/u/'vf l ( o/ j _ ('.?,/f

" o] —( 1
(@) Wha re the tercept;? ,{ t }

1, 9) (’/ o) (0,2)
(Simplify your answer. Type an ordered pair. Use a comma to separate answers as needed.)
(b) The @au)}ls g—- 3 5'} & 60'1 right 1

(Type your-answer in interval notation.)
The[éngeis /0 _Jj ( #J’”‘/ fh ﬂ
(Type your answer in interval notation.)

(c) On which interval(s) is the graph increasing? Select the correct choice below and fill in any answer boxes within your
choice.

. /"" Y
(%A. The graph isgﬁcreasing on J
(Type your answer in mterval nota ion. Use a comrna to separate answers as needed.)

() B. The graph is not increasing on any interval.

On which interval(s) is the graph decreasing? Select the correct choice below and fill in any answer boxes within your
choice.

; ,. ——— _ | r_-/ ‘\ }
%/ The graph i{cj_e_qreasmgmr é} P ( J Z / -
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not decreasing on any interval.

On which interval(s) is the graph constant? Select the correct choice below and fill in any answer boxes within your choice.

A. The graph is constant on
(Type your answer in interval notation. Use a comma to separate answers as needed.)

Y

L 3 The graph is not constant on any |nterval.

(d) The function is (1)

(1) & even
odd.
neither odd nor even.

9/10/2019, 10:03 AM



finalm1314COC033sulllljjRZZ07-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v1/print/math

Answers (- 1,0),(1,0),(0,2)
[-33]
[0.3]

A. The graph is increasing on , [-1,0],[1,3] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is decreasing on | [~ 3,-1],[0,1] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not constant on any interval.

(1) even.

ID: 1.3.25
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10. The function f is defined as follows.
-3x+4 ifx<1
f(x) =
2x -1 ifx=1

(a) Find the domain of the function.
(b) Locate any intercepts.
(c) Graph the function.

(d) Based on the graph, find the range. / y h
¢ JishF
(a) Th domam of the function f is g r:w .‘:/ /é/ / 4 Y

(Type our answer in interval notation.)

(b) Locate any intercepts. Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

? palm, Sl T & [ {..’,-- i) e
AL The icfercepi(S) is/are ( (’J/ '(/ S SHE cnf
1 :
(Type an ordered pair. Use a comma to separate answers as needed.)

) B. There are no intercepts.

(c) Choose the correct graph below. -

(d) Thfngejof the function f is [ ‘ _‘(7_6 ) L

(Type your answer in interval notation.)

Answers (- 00,00)

A. The intercept(s) is/are (0,4) [,
(Type an ordered pair. Use a comma to s_gpgra_te answers as needed.)

—

SV 2N (// O

)( i = 71 Z \‘
X—M(Z/ 2 \\

B.
[1,00) g = -/ 0 \],,
e r
ID: 1.4.33 e Py /0 {/___f P
k A
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11. The graph of a function f is illustrated to the right. Use the graph of f as the first step
toward graphing each of the following functions.

(@) F)=f(x)+2 (b) G(x) =f(x +4) () P(x) = —f(x)

1
(d) Hox) = f(x +2) - 2 (e) Q(x) = 5f(x) (M g(x)=f(-x)

(9) h(x) = f(2x)

(a) Choose the correct graph of F(x) = f(x) + 2 below.

/@A ™~ OB

“\

(b) Choose the correct graph of G(x) = f(x + 4) below.

) A

1
(e) Choose the correct graph of Q(x) = gf(x) below.

13 of 34 9/10/2019, 10:03 AM
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f N,

By

(f) Choose the correct graph of g(x) = f( - x) below.

O A. OB.

14 of 34 9/10/2019, 10:03 AM
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Answers

ID: 1.5.63
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12.
(a) Graph f(x) = |x + 6| - 3 using transformations. Ay
(b) Find the area of the region bounded by f and the x-axis 10-.
that lies below the x-axis. 34
(a) Graph f(x). 6~‘
(Use the graphing tool provided to graph the function.) 4-_
2-
(b) The area of the region bounded by f and the x-axis that ] .
lies below the x-axis is | | square units. 3 r ; — T3 e e
(Simplify your answer.) Y ?' ffim RS
R
B
8-
104

Answers Av

8
10l
/.--“' WV\/{UV\J) '
/X —miA I
ID: 1.5.87 X— Pey /L \

16 of 34 iy . S o 9/10/2019-40:03-AM.__
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?’ ) —

13. Find th{s zeros fthe uadratlc functior using the "are root method 2What are the x-intercepts of the graph of the
function? "1/,() W/ lk

()=

Fd - 2
Jo=2)
Select the correct choice below and fill in the answer box to complete your choice.

(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to

eV

90 = (x~2)° - 1

separate answers as needed.) e & a4
The zeros and the x-intercepts are different. The zeros are , the x-intercepts
A are . )(,,.wz - = C)/i, /‘(— l = (
(y B. The zeros and the x-intercepts are the same. They are 'j - .)(;_— & —+ 2 - / t L
(—1 +¢ T (FL (&
Answer: B. The zeros and the x-mtercepts are the same. They are | 31 pk =
~ , ﬁ‘g\ . = 2 TP

C - \ T .

ID: 2.3.29 B S =
- s —
.3 p— =

14. Find thé al zeros, if any, of lh\quadrath function usmg}]f quadratlc formula. What are the x-intercepts, if any, of the
graph of the function?
f 5(7 [y © - G A+ ¥
fx) = x? +6x + 4 / L) .ré €= (/

Select the correct choice below and, if necessary, ﬁl! in t{'le answer box to comp[ete your choice. P
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to,
separate answers as needed.) '

¢y A. The zeros and the x-intercepts are the same. They are . 2.5«
. The zeros and the x-intercepts are different. The zeros are , the x-intercepts
) B.
are
() ¢. There is no real zero solution and no x-intercept. ({ /

_ Answer: A. The zeros and the x-mtercepts are the same. They are | -3+ 1/_ -3- ﬁ

.E"Lajfll’l'b@/\ /(" — L) 7L|//7 "?(L J:_i;_ﬁ* wic \

ID: 2.3.41 { .

/N(&)»u(q "‘///]"‘// - 2—'
2 (1) [y ¢ ‘

P B 711 VY ST
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ﬁ( Y, b=/t
any, of tha{quadrattc funetion usi"lg thqgﬁadri!&:’fo la What are the x-intercepts, if any, of the graph

of the function? ﬁ" —b fL______ﬂM—: «"(/z) + ,g/, - (1) = 2t //VV el
f(x)= Bx2 +1+12x". ')(\ <@ f 6/ J/
H"“-H__ {_B?- et wél,.- — _/ 7 1" ( Ii&

Select the correct choice below and, if necessary, fill in the answer box to complete your choice. —
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to

separate answers as needed.) - / 2 ‘i’ 6- ’ 7
The zeros and the x-intercepts are different. The zeros are , the x-intercepts
OA . _ - wfp fb’;é(//_
() B. The zeros and the x-intercepts are the same. They are . / (’
() €. There is no real zero solution and no x-intercept. = = / 1L 1 F {/j_
; /¢
Answer: B. The zeros and thé x-intercepts are the sam cf( S aasl) W)

.
————— =

16.

ID: 2.3.47 ) | e S
= T

Match the function f(x) = X2 - 2x+2 to one of the given graphs.

Chaoose the correct graph below..

Answer:

ID: 2.4.17 %,;,}41,; - —f[
R G I TN

L N
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4
Q/‘?For the quadratic function f(x) = x% - 6x - 7, answer parts (a) 20 Y
—/ through (c).
16
(a) Graph the quadratic function by determining whether its 12 :
graph opens up or down and by finding its vertex, axis of

symmetry, y-intercept, and x-intercepts, if any. 8-

Does the graph of f open up or down? 4

x

e M I o (e B o e e o e

rr—rw—;—rrw—;—.'z—r'{'rw*r'rr-r*r':
. i & 12 1% 20

down 20 =16 .12 B
up
What are the coordinates of the vertex?

The vertex of the parabola is |

(Type an ordered pair. Use integers or fractions for any -16
numbers in the expression.)

What is the equation of the axis of symmetry?

The axis of symmetry is |
(Type an equation.)

What is/are the x-intercept(s)? Select the correct choice below
and, if necessary, fill in the answer box to complete your
choice.

A. The x-intercept(s) is/are

(Type an integer or a decimal. Use a
comma to separate answers as
needed.)

B. There are no x-intercepts.
What is the y-intercept? Select the correct choice below and, if

necessary, fill in the answer box to complete your choice.

A. The y-intercept is
(Type an integer or a decimal.)

B. There is no y-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of fis |
(Type your answer in interval notation.)

The range of fis .
(Type your answer in interval notation.)

(c) Determine where the function is increasing and where it is
decreasing.

The function is increasing on the interval
(Type your answer in interval notation.)

20 of 34 9/10/2019, 10:03 AM
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—

Answers up : ~.

(3, - 16) = /o )/ I:'"‘G/ —~7 J

=3 4 -
x - s, y
A. The x-intercept(s) is/are 7,-1 I

(Type an integer or a decimal. Use a comma to separate answerg as needed.)

el
TR

A. The y-intercept is =7 !.(Type an integer or a decimal.)

e
16 -

)(’Ml"'a-*? L (-1y9)
20 -6 -12 8 4

(- 00,00)
[-16,00)
[3,00)

(= 00,3]

ID: 2.4.37
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18.

22 0f 34

For the quadratic function f(x) = - 2x% +2x - 1 , answer parts
(a) through (c). Verify the results using a graphing utility.

(a) Graph the quadratic function by determining whether its
graph opens up or down and by finding its vertex, axis of
symmetry, y-intercept, and x-intercepts, if any.

The graph of f opens (1)

The vertex of fis
(Type an ordered pair.)

The axis of symmetry is ]
(Type an equation. Simplify your answer.)

Determine the y-intercept. Select the correct choice below
and, if necessary, fill in the answer box to complete your
choice.

() A. The y-intercept is
(Type an integer or a decimal.)

{C) B. There is no y-intercept.
Determine the x-intercept(s). Select the correct choice

below and, if necessary, fill in the answer box to complete
your choice.

() A. The x-intercept(s) is/are

(Type an integer or a decimal rounded
to two decimal places as needed. Use a
comma to separate answers as
needed.)

() B. There is no x-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of fis | 2
(Type your answer in interval notation.)

The range of f is s
(Type your answer in interval notation.)

{c) Determine where the function is increasing and where it
is decreasing.

The function is increasing on the interval
(Type your answer in interval notation.)

The function is decreasing on the interval
(Type your answer in interval notation.)

https://xlitemprod.pearsoncmg.com/api/v1/print/math
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(1) © up.
(O down.

Answers (1) down.

4 "
T2 //—’“\JUF‘/_QL‘ R T

A. The y-intercept is -1 |.(Type an integer or a decimal.) r\/\\

B. There is no x-intercept.

~

1

J

i Fex—1
\1/' <
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19. Determine, without graphing, whether the given quadratic functjon has a ma)umum value or a minimum value and then find

the value. G kph @ A G S As o e x
= x e = f— ( ) )
f(x)-—2x2+8x 1 [/"ff-" : _—(.’5"-; T"f [g( v) /7
Q= b= £ € =1 2 (1) :
Does the quadrai:c functlon fha\fe a minimum value or a maximum V. UE?_Z /,«- _ / )
~ . . L/ r Yd l'/()({ - T ( :__L_ /!
{ ) The function f has a maximum value. 4&/ . -
() The function f h ini lue. j
C e functionf has a minimum value, | 7, ,'/(K / 2/ /(? ) )

What is this minimum or maximum value?

Salay — ( 2, ~e0L) b Fral— )
[ - TEN
KSimEY Tourapesen) Vi, = ( 2/ —1(2)) < ¥ (2 =

x s ™,

F Y l N . — f /(_7 = \ / '

Answers The function f has a maxim_uln/'! \ffa'l/ué.( * - (z / S X —2 / / ( 2) ' .;'
7 Ve bl — ( Z g =

Meeeks = (z 2~ Max

——— ___.._ e —
20. Use the rational zeros theorem td f nd all He real zeros of the polynomial function. Use the zeros to factor f over the real

numbers. e J (;( b | _'//ﬁf/ [u 5%‘ Lf_
it )

il e (u ﬂ 7‘/’; t(

ID: 2.4.59

——o———=

N——

fx) = X° +6x° - Ox — 14

I S
Find the real zeros of f. Select :|/'18 cor}ect choi below au@ if necessbry. fill in the answer box to complete your answer
ll/,l \,4 /7/4;//,; s ‘_/y — 1/, ()i
OA x= N d(yive 4 )/ VIR E 4 s *a‘fl

(Simplify_j!our answer,-Type an exact answer, using radicals as needed. Use integers or
fractions for any rational numbers in the expression. Use a comma ta separate answers as

: needed.) <)<,_ ZJ Ex + /) o &«i“f 77 =\
() B. There are no real zeros. 5 L)/\ )<_/{ 2 L e ([)Li l'} J{
oL _;JJ-:_? ro) .

f(x)= | ( =2 on Y =7_
(Simplify your answer. Type your answer in factored form. Type an exact answer;-using radicals as needed. Use integers
or fractions for any rational numbers in the expression.)

Use the real zeros to factor f. ’(

~1 _1_4 2

Answers A. x=| =7, -1,2

(Simplify your answer. Type an exact answer, using radicals as needed. Use integers or fractions for any
rational numbers in the expression. Use a comma to separate answers as needed.)

(x+1)(x+7)(x-2) G Sl

e N

ID: 3.2.45 / / —
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59 nt hotle cl KV N
Use the rational zeros theorem to find all the real zeros of the polynomial function. Use the zeros to factor f over the real

numbers. (\—V’V) %:ll/ @ﬁ ) G -/ G —S7 G J Lt. 5—!

——

4,3 ;. Joue -""' . SR T W= “Vorbbs
f)=x"+6x" —16x" — 54x + 63 ' ' - — .
! ] | ¢ U Abu»')v{
What are the real zeros? Select the,ca[rect’chmcg below and, if necessary, fill in the ansvzer b}ox to complete your answer,
= N \ - - (& £
O A. x= U) )( -2 ] ' ’°l—— _(?5 1—(’)
¥ « X= & /V L’ ’,f l )::f\.—’_ : l
“ } { ﬁ)l

fractions for any rational numbers in the expresgion. Use a
needed.) 4

_— : v \ _\."I‘
() B. There are no real zeros. X 7t fQ X .f- Q_[ = @ ( B \‘
s o = —
(<~ 3 (" #1) = = oyt
' ~ L, 9 .-_;_.P ‘ : "|_ 1

\{_[ ‘?) ' L J ( (_ /( { 2“.____, '_I,t ;*;‘f] I (
f(X) = | ,Jr(,) r) ‘J‘-'_f—
(Simplify your answer. Type your answer in factored form. Type an exact answer, using radicals as fhieeded, Use integers

or fractions for any rational numbers in the expression.) Vot "= ; —“’/__ 5 (O /( X_/‘( - / v

;,

=3 D INC AT D

Answers A. x=| =7,1,3,-3 |

(Simplify your answer-Type an exa answer ing radicals as needed. Use mtegg.rs or e
3 %mma to $eparate answers as ’r(J ! £ty > 1
P O e A i

Use the real zeros to factor f.

(Simplify your answer. Type an exact answer, U mg”mﬁiéﬂs_;g needed. Use integers or fractions for any
rational numbers in the expression. Use a comma to separate answers as needed.)

Gt S s
X+ 7)(x—1)(x+ 3)(x-3)

[0, 3,78, T1> -

ID: 3.2.53 e 7

i Y7 -~-7¢ 1L _
- = _PS L 7 © “‘f‘}_____x ‘ 4 [ "-—l::)_’(:_f \
5 "6 35 -e (@ ;,/‘,.,;—__»

What are the real solutions of the equation?-S '!/ct the correct choice below and fill in any answer boxes in your 0iCE7, 55' L (,(.
N)

-

5x* - 36x° +87%% - 76x+12=0 v ’(LI_

‘ —¢6 3.5 =& i
(::J A. x= i '/-———_}:_—”'_' _‘:7 Z_—— C\ 3 ) E ' i
(Simplify your answ ype- a’n exact answer using radicals as'needed. Use integers-or~ L > y
fractions for any numbers in the expression. Use a comma to separate answers as needed. P 'r:t}{ { T _
Type each answer only once; do not duplicate answers in the case of repeated roots.) i }’E (,' =op L j
. —y L — g 5, [0 4 — &
() B. There are no real solutions. 4 {1 X1 l ) ;) - + 5 t f,‘f‘,_gg._f_l-(.
5 ) . e Ve — Z - _»_—.v_—'___ E(/;be_t’.
. (rx — DX o (8,78 )
Answer: A. x= 523 SY— / o ada /("2 — = t;fb b % 2 %]
L s | T $ Y
(Simplify your answer. Type an exact answer, using radicals as needed. Use integers or fractions-forany— "+

numbers in the expression. Use a comma to separate answers as needed. Type each answer only once; do not
duplicate answers in the case of repeated roots.)

K~ ot/ an )< [7‘( u’"/Q

ID: 3.2.67 Y=/ L& /X 2\ ¥
T : — 5;——( \an
i ﬂ%{ §2§ =L ‘r_ T “7_{5 SL:}
_ 2/_37“_;.%_ j ;no/zow_: 10:03 AM
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23. Find th@r‘ttc&ll@uontﬂ! a obllque asymptotes if any, for the following rational function.

17x - 7

Select the correct choice below and fill in any answer boxes within your choice.

) A. The vertical asymptote(s) is/are x =
(Use a comma to separate answers as heeded.)

(> B. There is no vertical asymptote.

Select the correct choice below and fill in any answer boxes within your choice.

) A. The horizontal asymptote(s) is/are y =
(Use a comma to separate answers as needed.)

) B. There is no horizontal asymptote.

Select the correct choice below and fill in any answer boxes within your choice.

(O A. The oblique asymptote(s) is/are y =
(Use a comma to separate answers as needed.)

() B. There is no oblique asymptote.

Answers A. The vertical asymptote(s) is/are x = | -20 :.(Use a comma to separate answers as needed.)
A. The horizontal asymptote(s) is/are y = 17 .(Use a comma to separate answers as needed.)

B. There is no oblique asymptot‘e.
e ﬂ(‘/)(/ @ ff_’i_
ID: 3.4.45 - [,(, /<O

s )(+2ur/u |
X#Zd-'zu ~ R B

~ |
,/*' )(/ -7 QO \\_ c,/( |

\\ l/ff‘flr‘_w Cti*/ l/v',’/ ///(

——

'\"_,., | | AJ s //OL\/’/ 7LU/7 '
U7X TFTG for R

| ﬂ:_ . _‘ /341// 2o ke ( ““
< j //<1Q57W/7¢,;[-
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24. For f(x) = 3x + 8 and g(x) = 8x, find the following composite functions and state the domain of each.

27 of 34

(@) fog (b) gof (c) fof (d) gog
(@) (fog)(x) = (Simplify your answer.)

Select the correct choice below and fill in any answer boxes within your choice.

() A. The domain offo gis {x [ }
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(&) B. The domain of f o g is all real numbers.
(b) (g o f)}(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

(O A. The domainofgofis A
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(O B. The domain of g o fis all real numbers.
(c) (fof)(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

(3 A. The domain of fo fis {x | j3
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

{3 B. The domain of f o fis all real numbers.
(d) (@og)(x)= (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

() A. The domain of go g is {x | }.
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

() B. The domain of g o g is all real numbers.

Answers 24x + 8
B. The domain of fo g is all real numbers.
24x + 64
B. The domain of g o fis all real numbers.
9x + 32
B. The domain of f o f is all real numbers.
64x

B. The domain of g o g is all real numbers.
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/" The function f(x) = 2x + 1 is one-to-one. Ay
(a) Find the inverse of f and check the answer. 20+
(b) Find the domain and the range of fand f~ 1 m_:
(c) Graph f, f~ 1, and y = x on the same coordinate axes. 123
- 8]
@f )= 1
(Simplify your answer. Use integers or fractions for any 4
numbers in the expression.) ] %
_ _ _ . 20 16 12 8 4 ] 4 8 12 16 20
(b) Find the domain of f. Select the correct choice below and, if 4]
necessary, fill in the answer box to complete your choice. ]
8-
) A. The domain is {x|x= >. 121
. B. The domain is {x[x# }. 16
) €. The domain is {x|x2 b, sa]
() D. The domain is the set of all real
numbers.

Find the range of f. Select the correct choice below and, if
necessary, fill in the answer box to complete your choice.

() A. The range is {nyZ }. ¢
() B. Therangeis {ylys }. X ol Zj ﬂf ( X://
() €. Therangeis {yly# b yr :
() D. The range is the set of all real numbers. =

Find the domain of f 1 . Select the correct choice below and, if )( (
necessary, fill in the answer box to complete your choice.

A. The domain is {x|x < }. )( \

B. The domain is {x|x= 3 | X 3 [ ‘g l;f
() €. The domain is {x|x;e ] } | —— D
() D. The domain is the set of all real Z_

numbers.

= |
Find the range of f 1. Select the correct choice below and, if
necessary, fill in the answer box to complete your choice. (

A. The range is {yly= . )( ey vf'( W/ i
() B. Therangeis {y[ys B - } ; ,» \/0 / 5)'I.r",{_ .
(0 C. Therangeis {y|y;a'E ) } . ( \7 /f’ / m J’
(» D. The range is the set of all real numbers. | 3 /

N

(c) Graph f, f -1 , and y = x on the same coordlnate axes.
the graphing tool to graph the functions.

— / \/
_ K = ‘ \ ./_,_:":_\
N~

Use~ ,[ Jo S /
N(@ .

0 _____ —
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x-1 R =
Answers 2 u 5 /(
B A [ ] 7
D. The domain is the set of all real numbers. . / ) /

D. The range is the set of all real numbers.

D. The domain is the set of all real numbers.

D. The range is the set of all real numbers,”;

ID: 4.2.53 e — .

k_"'.-, B ——————— - - 1 \ \/ 5 ’ ?’ / d \
. = AT TV
26. Solve the equation. -
. }/(wnlk ?8’7,“‘”
4-x+18=128x Z ) !
//W\J
The solution set is { ‘} o
(Type an integer or a simplified fraction. Use a comma to seyarate answers as needed.)
—X T - L/

(,

Answer: 4 /Z -

ID: 4.3.73 |
‘2_7(#75‘2:-/&/(': 7XL—3¢

31 of 34
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27. Solve the equation. (u; ? ( X ﬁ) -
log ,(2x+3)=3 (. - L(
3 o2 ""\(/(\/‘(/\ e
Change the given logarithmic equation to exponential form. 2 = 2 /( i L —
_ ' D -2 = (X %
(Type an equation. Do not simplify.) X - { X, - g /
The solution set is { } X -5 = X -5

(Simplify your answer. Use a comma to separate answers as needed.)

g” VAN

Answers oy 4 3= 23 KE
5

- _
‘,"-

_ID_: 4.4.9_1-Sezu_p & Solve

28. Solve the logarithmic equation. /u 7)7)6{’%(5 ) TS rf éo) ﬂ 7 ’TC/U) (S f/s’) -
log x + log (x+ 15)=2 X()(/f/ Y , )( )~ ;CU) (z2) < &
Determine the equation to be solved after narnovirlg the logarithm. "' 0{ C/T}xlc/( Gf)f:/
| - (0 = X Ty lsA _
(Type an equation. Do not simplify.) C/' < ’f'/S A == LLL \

Select the correct choice below and, if r%cessary% the answ‘? tg( to complete your choice.

Ak X—sTo O Xfeowe
O A Thesolutionsetis{ )<.-«$ < U—fy"OA K’(’Zdv-{/«)”_(;f"'é o

: _\I-

(Simplify your answer. Type an exact answer. Use a co Cm,\p,se.parateﬂngwers as

a -
roodd) 20 O X 2RO o elftorsI=2
(") B. There is no solution. (,///-) ¢ éU) (fzd)‘r ¢ % / 2

ChedCy (_fgq).ﬂ(.u)’/ )= T
Answersx(x+15)=102 “"f @4 D /é!f}))

A. The solution set is { 5 | b

(Simplify your an wgrlvpe an uacLanﬁMie a comma to separate answers as needed.)

Aw’h’hﬁ,a'\ u)/.}/_// o //3’/ \\\ Ci 1 SIS
C ([é @/’j 5 j f_é-\—'\ 4 /7

= - ——
=

29, F|nd the amount that results from the given investment ) —— ‘},4.- P — 309
( $300 pvested\ﬁt B% compourl(ded quarteﬂy aﬂer a period {2 years

Iz

After 2 years, the investment results in $
(Round to the nearest cent as needed.) }’ "(‘ J—/

Answer: 351.50 A ﬂ BUU ([ ’r ,j—)

/4:{; 5300 ([ ,Z)
AT A 200 ([0l g

K\ %? &3 Y/a ?73/?2 oA ——

%
3203 _ 9/10/2019, 10:03 AM
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{)kl\.\. LZC [-{’ /] /‘f”(} f A-/ o> s — P
ey 30 How.long does it take for an investment tt@ouble\h vallée ifitis mvested(e\t 12% ccr{lpOUnded :étteriy? Compoun:ied
contmuously’? alll Wy
(00 < d2 2o =) ([ J—L) _ \\ W=/ € Jit k
J At 12% compounded quarterly, the investment doubles in about _ yeaf’s\( od EB—C / \\I
(Round to two decimal places as needed.) Z W /(./b’ LL e Y, M = /',/«,P J'
2z &

™

1

2-0‘0" At 12% compounded continuously, the investment doubles in about |yea

! ,e/:’(
_\ (Round to two decimal places as needed.) & Qﬁ 3’6 2.“?4’{? G7 = ( .)" / ( ¢ / K( )
l (22? Cl - - ) » ,,S';?;{‘y:(-.-,@ H(2)-. jecHf ‘.. |
Answers 5.86 ('Z) —,_-5-—1 (/ -rdfz) _— //(()_ ’/2((// 1

;} 5.78 t/zl (.2) 4’{,.47 (/'T ///) &,Q c-/(-{ 0 f(,)(.-_.‘,( /{

!\ ﬁ//Z) ‘r{,ﬁ.(/—r A3 )\
1D: 4.7.35 /7 ; E
® (¢ o ((r <))  (LLo(lg-1y6)) ¥22 4 el Sl

=" e N ——
"\31. How many years will it take for an mnttal mvestmen of $20,000 to gro to $50,0007?" Assume a rate of mterest of 15% \ﬁ \
compoundeiﬁénfﬂousl?i /?_ /,/(o/ { 2 7 L._ (c) A5 / — {

{; f "?' o S (

It will take about years for the investment to growt 50,000.

\ (Round to two decimal places as needed.) s e ; (/ 2)7 c /Y E. %1[6’ / ‘E_.

( Qo= 20y C
\] Answer: 6.11 i-[)\,'(.!u S 2 }{/ Q T/ - ({’(3’? T 45 é/// /’Z <1.
\ ; 2 -~ (2 Z¢/r( ( d
| ID: 4.7.41 b0 e 77 5-( TZ- ()/’— // =€ D)
[4.7. e ~oll

32. Solve the system of equations g&lje system has no solutlon say that it I_s oonsiste 0 é
: N—=S9 =i

: 2 Mo
3x - 5y=1 "N sux+59= _(ﬁ?S"_’/" ~y /C'
{ 10x+y =21 )(5’) S O =/Y @/ %f};é Z 3 J/

Select the correct choice below and, if necessary, fill in any answer boxes within your ch@\/ — Z \ J
ol

O A. The solution of the system is x = andy= —

(Type an integers or simplified fractions.) §w L S 4= 3)(/ g"?

() B. There are infinitely many solutions. Using ordered pairs, the solution can be written as

{xy)x= yanyreal number} (2 ) ,.57 z {

(Simplify your answer. Type an expression using y as the variable as needed.)

() €. The system is inconsistent. . S_
/6/ 5’ 9 ’7/
Answer: A. The solution of the system is x = ' 2 ' and y= |
(Type an integers or simplified fractions.) ""_S )
- =
ID: 6.1.33 ~ - ’ . i
- \ — .

) £
= T
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33. Solve the given system of equations. If the system has no solution, say that it is inconsistent.

Xx—-2y+3z= 16
2x+ y+ z=-3
-3x+2y—-2z2= -8

Select the correct choice below and fill in any answer boxes within your choice.

O A. The solution is x = VY= ,andz= . (Type
integers or simplified fractions.)

(O B. There are infinitely many solutions. Using ordered triplets, they can be expressed as
{(x,y,z) | X= Y= L , Z any real number}.
(Simplify your answers. Type expressions using z as the variable as needed.)

(O €. There are infinitely many solutions. Using ordered triplets, they can be expressed as
{xy2) | x=_ .y any real number, z any real number}.
(Simplify your answer. Type an expression using y and z as the variables as needed.) p r#—' _
"T“‘__ _. ‘ Nk e (Q/_C/ s/\ \J
s« 9ve W/q /

.

(O D. The system is inconsistent.

Answer: A,
The solution is x =| -2 VY= -3 ,andz= 4 . (Type integers or simplified
fractions.) ‘—‘

ID: 6.1.45 % D /’?70/// Ix’f (/( A+ 2/ J )9)((// gl Z“’//

-1 3/

J

!
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